OUTRIDE
THE

ORDINARY

INSTALLATION GUIDE

PART

KIDS FOOT REST

SKU

S0755

COLOUR

BLACK

WEIGHT

0.253 KG

(@coastcycles
http:/ / coastcycles.com




1 INSTALLATION GUIDE CONTENT PAGE

CONTENT PAGE

REQUIRED TOOLS 2
BOX CONTENTS 3
INSTALLATION PROCEDURE 4

COMPATIBILITY

BUZZRAW CLASSIC BUZZRAW PRO BUZZRAW SL

COASTCYCLES



2 INSTALLATION GUIDE REQUIRED TOOLS

REQUIRED TOOLS

TOOLS
5mm Hex Wrench

10mm Socket Wrench or Spanner
Torque Wrench

COASTCYCLES



3 INSTALLATION GUIDE BOX CONTENTS

BOX CONTENTS

Kids Foot Rest -1 pc
M6 x 60mm Allen Head Bolt - 1pc
M6 Saddle Washer -1 pc
M6 Nylon-insert Lock Nut - 1pc

(Fig. 1) Kids Foot Rest and the appropriate hardware.

COASTCYCLES



4 INSTALLATION GUIDE INSTALLATION PROCEDURE

INSTALLATION
PROCEDURE

Insert the M6 x 60mm bolt through the foot rest. The
head of the bolt will rest on the flat surface of the foot
rest as shown. (Fig. 2 & 3)

(Fig.2) Orientation of the bolt through the foot rest. (Fig. 3) Orientation of the bolt through the foot rest.

The appropriate mounting point for the foot rest will be
the down-tube crossbar that is located closest to the
frame bumpers. (Fig. 4 & 5)

Insert the bolt through the mounting hole in the tube.
(Fig. 5)

(Fig. 4) The mounting point will be the topmost bar on the down  (Fig. 5) Insert the foot rest and bolt as shown.
tube.

COASTCYCLES



5 INSTALLATION GUIDE INSTALLATION PROCEDURE

Note the curve on the saddle washer. The curved part
of the washer will face the frame. (Fig. 6)

Place the washer over the bolt and thread the M6 nut
onto the bolt. (Fig. 7)

Use a 5mm Hex wrench to prevent the bolt from
turning. Tighten the M6 nut to 6 Nm. (Fig. 8)

(Fig.7) Washer and M6 Nut. (Fig. 8) Tighten the M6 Nut to 6 Nm.

COASTCYCLES



6 INSTALLATION GUIDE INSTALLATION PROCEDURE

Installation is complete. (Fig. 9)

(Fig. 9) Completed Installation.

COASTCYCLES



INSTALLATION GUIDE

CONTACT

For further enquires, please contact us at
enquires@coastcycles.com

Design Office

54 Siglap Drive.

Singapore 456176
(65) 66816681

Head Office
Vijzelgracht 7, 1017 HM
Amsterdam, Netherlands

(31) 20 716 3925

COASTCYCLES



COASTCYCLES



